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import sys
sys.path.append("statlib™)
from multi import Passing_Bablok_regression

Passing_Bablok_regression(x, y, n=1, sig=0.95)
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import sys
sys.path.append("statlib")
from multi import Passing_Bablok_regression

import numpy as np

np.random.seed(123) # EA#HOE (EERFTE)

a = Passing_Bablok_regression(x, y, bootstrap=1000)

Estimate Lower C.L. Upper C.L.
Intercept -5.400810 -170.670000 127.296667
Slope 1.117409 -1.407083 4.600000

def simple_reg(x, y):
mx = np.mean(x)
my = np.mean(y)
slope = sum((x-mx)*(y-my))/sum((x-mx)**2)
intercept = my-slope*mx
return intercept, slope

import numpy as np
import matplotlib.pyplot as plt

intercept = a["intercept"]
slope = a["slope"]

x0 = np.amin(x)

x1 = np.amax(x)

x2 = np.array([x0, x1])

y2 = intercept + slope * x2
intercept_reg, slope_reg = simple_reg(x, y)
y3 = intercept_reg + slope_reg * x2

plt.scatter(x, y, c="black", s=9)

plt.plot(x2, y2, label="Passing-Bablok", linewidth=0.5, color="red")

plt.plot(x2, y3, label="simple regression", linewidth=0.5, color="
black™)

plt.xlabel ("x")

plt.ylabel("y™)

plt.legend ()

plt.show()
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